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





(oC)
S.I.(K).          

0oC = 273K 

: 
 
 



S.I. 
(J)C.G.S. 
(cal). 

1 cal    = 4.186 J (approx. 4.2 J) 
1 K.cal = 4.2 X 103 J 

 AV-clip 



 


toC  =  (t + 273)K 

1oC =  (1 + 273)K = 274K 
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